
158 ANSWERS.

ll

,«.r

m

(15.) A Prussian pound = 16^ oz. ; an Austrian pound =
191 oz. ; a kilogramme = 35i oz.

(16.) 3i miles.
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(9.) 2m-i, 3»-2, lOp

(1.) 6a;"+*; 4a;'»+2; 4a;*».
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(10.) 2«"2, 5a;"3, 7a;~»

Lin.

(2.) 2.x* ; 6x6 . 30a;:l

2n+l 3n fin

(3.) jc 2
; 6a;=^ ; a;«

(5.) a6; 2a"'^; o^.

(7.) 1; 1; 6; wiw.

(4) 2a; Ba'^; 30a-1

(6.) a^; a^; a\

(1.) a"; a2«.

(4.) a? ; (B^

Sn

(7.) as"; a;2.

12. «8a': a(1.) a

(3.) a . .

(5.) a; a^; a*.

LIV.

(2.) a»; ai

(6.) a?; aj^.

LV.

(!2.) a-=

(3.) x^; X.

(6.) (c; (B*.

a-6. „-12

-«»• a«: ai2. a=« ; a"; a9. „io
(4.)

(6.) a3 ;
as ; a^.


